A=abla+b)—ab=abla+b-1)
B = a?b — 2ab = ab(a - 2) °|t}.
OB 9 14+ ab &t a -2 o]t}

@B 1A ab = 7 F2 TF U0
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® 9x-7Ty @ 3x+9y ®)3x+ Ty

9x2 — 49y? = (3x)%2 - (7y)? = (3x - Ty)(3x + 7y)




® 2x24+Tx+6

@ x*-4

® 2x% +3x-2

@x2+x—6

® 3x24+Tx+2




ohe % Q5

rek

7ol A

59

> A2?

@ 25x2 - 20xy + 4y2 = (5x — 2y)2

@ax2 +2ax+a = (ax+1)?

1 1 3 2
@ga—i- a—|—16 §a+4b
4 4 < 2)
2_ = - = — —
@ x 3x—|—9 x- 3

® (xy)? +22xy + 112 = (xy + 11)2

@ ax®> + 2ax+a = a(x+1)?




5.

0<x<7dm, Va2 = T6x+ 64— Va” + 10x + 25 & 13| 5147

@—2x—|—3 @ 2x+1
@ 3x-1 ® -3x+1

® -2x-5

B

Va2 = 16x + 64 — Vx2 + 10x + 25
= /(x-8)2- \/(x+5)?

= |x—8 —|x+ 5|
=—x+8-x-5=-2x+3




5x2+ (2a—5)x— 14 S A5EaletA (x—2)(5x+b) & o, A a, b
ol & a+b 9 = Tatofet

=
=i

>

~&B

(x—2)(5x + b) = 5x% + (b — 10)x — 2b

5x% + (2a —5)x — 14 = 5x*> + (b — 10)x — 2b
2b=14=b="7,2a-5=b-10 N a=1
La+b=38




@D 22 +x-1=(2x+1)(x-1)
© 4x? —y* = (2x +y) (2x -)
© a>+2ab+b*-a-b=(a+b-1)(a+b)

® 4 +4x+1=(2x-1)°

v VvV v Vv
0
ot o
®©

0x
o
@)

D22 +x-1=2x-1)(x+1)
@42 +4x+1=(2x+1)?




8.  Ax?436x+B=(2x+C)? oAl G5 A, B, € o & Fobw?

® 4 @ 9 ® 81 @ 90 @94

Ax2+36x+B = 4x2+2x2Cx+C2 0]|B2 A =4, B=81,C=9
Sj=3
Wt A+ B+ C =4+81+9=094 o[t}




x2 + 36x+ = (2)C—|-)2
67 + 1 +[@] = Bx+5)2x+[@)

® 6.6 @ 6,0,0 © 9.6
® ©,@ ®e.e

B

@:22 =14
©:4x®=36 .©®=9
©:9%2=281

®:10+3x@=1, .@=-3
®: (-8)x5 =15




